
Possible Solution 

 

Neither Devonte nor Tanisha rounded to the nearest thousand. Devonte rounded to the nearest 

million (986,000,000) and Tanisha rounded to the nearest hundred thousand (986,600,000). 

 

When rounding 985,636,050 to the nearest thousand, find the closest value in the thousands to 

985,636,050. 

 

 
985,634,000              985,635,000              985,636,000               985,637,000              985,638,000 

 

985,636,050 is closer to 985,636,000 than to 985,637,000. 


